



이름: _____

날짜: _____ 점수: _____

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{3}{4} =$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{1}{4}\right) - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{6}\right)^0 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^3 - \frac{2}{5} =$$

$$\left(\frac{1}{4}\right)^0 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{3} =$$

$$\left(-\frac{3}{5}\right)^0 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^3 - \frac{1}{4} =$$

$$\left(-\frac{1}{4}\right) - \frac{1}{6} =$$

$$\left(\frac{1}{5}\right)^0 - \frac{3}{5} =$$



이름: _____

날짜: _____ 점수: _____

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{3}{8}\right)$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{6}\right) = \frac{11}{48}$$

$$\left(\frac{1}{6}\right)^3 - \frac{3}{4} = \left(-\frac{161}{216}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \frac{3}{4} = 1$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{3}\right) = \frac{5}{6}$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{5} = \frac{17}{20}$$

$$\left(-\frac{1}{2}\right)^2 + \frac{2}{5} = \frac{13}{20}$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{1}{25}\right)$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{1}{5}\right) = \frac{4}{5}$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{3}\right) = \frac{44}{375}$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{3} = \frac{13}{36}$$

$$\left(\frac{1}{4}\right) - \left(-\frac{1}{4}\right) = \frac{1}{2}$$

$$\left(-\frac{1}{6}\right)^0 - \left(-\frac{1}{3}\right) = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(\frac{1}{2}\right)^3 - \frac{2}{5} = \left(-\frac{11}{40}\right)$$

$$\left(\frac{1}{4}\right)^0 - \left(-\frac{3}{4}\right) = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{3} = \frac{122}{375}$$

$$\left(-\frac{3}{5}\right)^0 + \left(-\frac{2}{5}\right) = \frac{3}{5}$$

$$\left(-\frac{1}{6}\right)^3 - \frac{1}{4} = \left(-\frac{55}{216}\right)$$

$$\left(-\frac{1}{4}\right) - \frac{1}{6} = \left(-\frac{5}{12}\right)$$

$$\left(\frac{1}{5}\right)^0 - \frac{3}{5} = \frac{2}{5}$$